

$(\frac{17}{36} - \frac{7}{18}) \div \frac{17}{24} =$	$\frac{1}{2} \div \frac{3}{4} \div \frac{9}{10} =$	$\frac{2}{11} \div \frac{8}{15} \times \frac{11}{15} =$	$\frac{4}{5}x = \frac{7}{20} \quad x =$	$\frac{4}{5}x = 60$ $x =$
$\frac{6}{7} + 1 \div 7 =$	$\frac{4}{7} \times \frac{2}{3} \times \frac{7}{8} =$	$\frac{5}{6} \div \frac{5}{12} \times 2 =$	$x \div \frac{1}{7} = \frac{3}{14} \quad x =$	$\frac{7}{15}x = \frac{8}{5}$ $x =$
$(\frac{5}{7} - \frac{3}{14}) \div \frac{5}{6} =$	$\frac{4}{11} \div \frac{2}{11} \times \frac{1}{3} =$	$\frac{11}{12} \div \frac{1}{6} \times \frac{1}{7} =$	$\frac{1}{39} \times (1 - \frac{3}{5} \div \frac{3}{5}) =$	$\frac{5}{9} \div \frac{2}{3} \times \frac{6}{11} =$
$\frac{2}{3} \div (\frac{1}{6} + \frac{1}{4}) =$	$\frac{1}{4} \div \frac{2}{3} \div \frac{5}{9} =$	$(\frac{5}{6} + \frac{3}{4}) \div \frac{5}{18} =$	$(\frac{12}{13} - \frac{6}{13}) \times \frac{1}{8} =$	$\frac{3}{10} \div x = \frac{3}{5} \quad x =$
$\frac{3}{4}x = \frac{2}{5} \quad x =$	$\frac{1}{8}x = \frac{1}{6} \quad x =$	$\sqrt{289} =$	$\sqrt{361} =$	$x \times \frac{1}{6} = 5 \quad x =$
$\sqrt{441} =$	$\sqrt{529} =$	$\sqrt{169} =$	$\sqrt{144} =$	$\sqrt{400} =$
$\frac{8}{13} \div 7 + \frac{1}{7} \times \frac{6}{13} =$	$(\frac{1}{4} + \frac{5}{8}) \div \frac{1}{4} =$	$\frac{7}{10} \times (20 + \frac{4}{7}) =$	$\frac{5}{8} \div x = \frac{15}{16}$ $x =$	$8 \times ( ) = \frac{25}{28}$
$\frac{3}{7} \times 6 + \frac{3}{7} =$	$\frac{7}{12} \times \frac{3}{11} \times 12 \times 11 =$	$\frac{5}{6} \times \frac{1}{9} + \frac{1}{6} \div 9 =$	$\frac{13}{18} \div x = \frac{4}{9} \quad x =$	$\frac{5}{12} \div ( ) = \frac{15}{24}$
$\frac{1}{2} + \frac{1}{3} \div \frac{5}{6} - \frac{3}{5} =$	$\frac{9}{10} \times 9 + 2 \times \frac{9}{10} - \frac{9}{10} =$	$(\frac{3}{4} + \frac{5}{6}) \times 12 =$	$\frac{7}{15} \div \frac{7}{15} \times \frac{5}{8} =$	$\frac{5}{18} \div ( ) = 5$
$\frac{9}{14} \div [\frac{5}{7} + (\frac{4}{5} + \frac{2}{7})] =$	$(\frac{1}{16} + \frac{5}{8}) \div \frac{1}{8} =$	$\frac{11}{12} + \frac{9}{56} \div \frac{3}{7} + \frac{5}{8} =$	$4 \times (25 \times \frac{1}{4}) =$	$\frac{1}{5} \div ( ) = \frac{2}{5}$



*You are the best!*

